MBx30 - 1ks
MI10x30 - 2ks

M10x90 - 4ks (R PP8 - 1ks
M12x35 - 2ks ; M12 - dks P10 - 4ks / PP10 - bks R15%2-60 - 4ks
M12x40 - 2ks . M10 - 6ks . PP12 - 8ks

M12x22 - Tks

MI12x19 - 3ks
ﬁ — M 10x20

_AMI10x90
M1 2%40 M1 2%35

M10x30

“MI2x19 (3ks)
M12x22 (1ks)

FIAT PUNTO - FOR00C - 18.9.2008




